
Week Date Sections 
from FS2009

Part/ References Topic/Sections Notes/Speaker

1 Sept 7 I.1, I.2, I.3 Combinatorial 
Structures
FS: Part A.1, A.2
Comtet74
Handout #1
(self study)

Symbolic methods

2 14 I.4, I.5, I.6 Unlabelled structures

3 21 II.1, II.2, II.3 Labelled structures I

4 28 II.4, II.5, II.6 Labelled structures II

5 Oct 5 III.1, III.2 Combinatorial 
parameters
FS A.III
(self-study)

Combinatorial 
Parameters Asst #1 Due

6 12 IV.1, IV.2 Multivariable GFs

7 19 IV.3, IV.4 Analytic Methods
FS: Part B: IV, V, VI 
Appendix B4
Stanley 99: Ch. 6
Handout #1
(self-study)

Complex Analysis

8 26
IV.5 V.1

Singularity Analysis

9 Nov 2 Asymptotic methods Asst #2 Due

10
9 VI.1 Sophie

12 A.3/ C

Random Structures 
and Limit Laws
FS: Part C
(rotating 
presentations)

Introduction to Prob. Mariolys

11
18 IX.1 Limit Laws and Comb Marni

20 IX.2 Discrete Limit Laws Sophie

12
23 IX.3 Combinatorial 

instances of discrete Mariolys

25 IX.4 Continuous Limit Laws Marni

13 30 IX.5 Quasi-Powers and 
Gaussian limit laws Sophie

14 Dec 10 Presentations Asst #3 Due
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f acul ty of  sc ience   MATH 895-4 Fall 2010
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Due: Wednesday, April 9th (in class)

Reading

For Monday, March 31st, Section 10.5.

For Wednesday, April 2nd, Chapter 14.

For Monday, April 7th, Sections 11.1–11.2.

For Wednesday, April 9th, Section 15.1–15.2.

Assignment exercises to hand in for Math 448 and 748

Chapter 9, exercises 9.201, 9.53.

Run the first two phases of:

I. the capacity-scaling algorithm, and
II. the cost-scaling algorithm, beginning with ε = 10.

on the network shown in Figure 9.21 (a) on page 348. If you require an initial feasible flow, you should use the
one from Figure 9.21 (b).

Chapter 14, exercises 14.1, 14.2 and 14.4.

Additional problems to hand in for Math 748

Chapter 10, exercise 10.18.

Chapter 14, exercise 14.22.

Math 448 students are also welcome to try these problems.

1If you have an older edition of the book, it may be that c37 is given as 2. This is a typo, the correct value is c37 = 3. (In fact, no edge
has cost 2.) Do not worry about the last sentence in the question, which mentions the primal-dual algorithm.
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